
EUREKA MATH2� 5  ▸  M4  ▸  TB  ▸  Lesson 11

© Great Minds PBC 105

Name Date
11

Subtract. Write the difference in standard form.

1. 7 tenths − 4 tenths =  tenths =   

2. 6 hundredths − 4 hundredths =  hundredths = 

3. 12 tenths − 9 tenths =  tenths = 

4. 58 hundredths − 23 hundredths =  hundredths = 

Use a related addition equation to subtract. Let the letter represent the unknown part. Fill in the 
blanks and use the arrow way to record your thinking.

5. 4.3 − 1.8

Related addition equation with 
unknown part d:

 + d = 

Arrow way:

4.3 − 1.8 = 

6. 5.21 − 3.75

Related addition equation with 
unknown part w:

 + w = 

Arrow way:

5.21 − 3.75 = 
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Subtract. Show your work by using a number bond.

7. 3.1 − 0.7 = 8. 4.63 − 0.08 =

9. 2.7 − 1.9 =  10. 5.11 − 2.87 = 

Subtract. Show your work by using a number line.

11. 1 − 0.3

10

1 − 0.3 = 

12. 0.1 − 0.02

0.10

0.1 − 0.02 = 
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13. 2.3 − 0.6

2.3 − 0.6 = 

14. 3 − 0.04

3 − 0.04 = 

 Subtract. 

15. 4.1 − 0.8 = 16. 5.3 − 2.9 = 

17. 8.24 − 3.95 = 18. 9.4 − 7.55 = 
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Use the Read–Draw–Write process to solve each problem.

19. A large apple weighs 0.22 kilograms. A peach weighs 0.15 kilograms. How many more kilograms 
does the apple weigh than the peach?

20. Kayla earns $5.75 washing the dishes and $2.50 taking out the trash. She spends $4.89 on a  
notebook. How much money does Kayla have left?

© Great Minds PBC


	11

